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Fiber 2447, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.752.002.252.502.753.003.25

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.61.82.02.22.42.62.83.03.2

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.10

Fiber 1318, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0

Fiber 2407, dchi2frac= 1.0



5 0 5
5.0
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0.0
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data
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5 0 5
5.0

2.5

0.0

2.5

5.0
model
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5 0 5
5.0
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2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 4944, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.050.000.050.100.150.200.25

Fiber 4364, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 246, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.2

Fiber 4244, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.753.003.25

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 1421, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 1257, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.5

Fiber 4990, dchi2frac= 1.0
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5.0
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data
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5 0 5
5.0

2.5
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2.5
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model

2 3 4 5 6
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5.0
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5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 2492, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.53.03.54.04.55.05.56.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.20.3

Fiber 1355, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.5 3.0 3.5 4.0 4.5 5.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 857, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2

Fiber 172, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.2 0.10.0 0.1 0.2

Fiber 4730, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.10

Fiber 944, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.20.40.60.8

Fiber 1495, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.05

Fiber 1427, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
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2.5
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2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 4892, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.1

Fiber 1245, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.050.10

Fiber 4194, dchi2frac= 1.0
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data
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5 0 5
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2.5
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2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.250.200.150.100.050.000.05

Fiber 98, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 4970, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.05

Fiber 4883, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 2063, dchi2frac= 1.0
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data
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model

1 2 3 4 5
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5.0
residuals

0.150.100.050.000.050.10

Fiber 4643, dchi2frac= 1.0
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data

1 2 3 4 5

5 0 5
5.0
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model

1.01.52.02.53.03.54.04.55.0
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5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 350, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.0

5 0 5
5.0
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0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5
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5.0
residuals

0.2 0.10.0 0.1 0.2

Fiber 2613, dchi2frac= 1.0
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5.0
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0.0

2.5

5.0
data

1.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.21.41.61.82.02.22.42.6

5 0 5
5.0

2.5
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5.0
residuals

0.060.040.020.000.020.040.060.08

Fiber 81, dchi2frac= 1.0
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data
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model
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residuals

0.2 0.10.0 0.1 0.2

Fiber 2827, dchi2frac= 1.0



5 0 5
5.0
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0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5
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5.0

2.5

0.0
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5.0
residuals

0.40.30.20.10.00.10.2

Fiber 2543, dchi2frac= 1.0
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data
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5 0 5
5.0

2.5

0.0

2.5

5.0
model
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residuals
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Fiber 2872, dchi2frac= 1.0
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0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5
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2.5

5.0
model

2 3 4 5

5 0 5
5.0
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2.5

5.0
residuals

0.250.200.150.100.050.000.05

Fiber 280, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.56.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.150.200.25

Fiber 890, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.3

Fiber 2479, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.20.30.4

Fiber 4536, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.1

Fiber 153, dchi2frac= 1.0
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data
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5 0 5
5.0
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2.5

5.0
model

2 3 4 5

5 0 5
5.0
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2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 1201, dchi2frac= 1.0
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data

1.5 2.0 2.5 3.0 3.5

5 0 5
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model

1.5 2.0 2.5 3.0 3.5
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5.0
residuals

0.10.00.10.20.30.4

Fiber 2976, dchi2frac= 1.0
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data

1 2 3 4 5

5 0 5
5.0

2.5
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2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.05

Fiber 2215, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 999, dchi2frac= 1.0
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data
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5.0
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5.0
model
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5.0
residuals

0.40.30.20.10.00.10.2

Fiber 4269, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.20.00.20.40.6

Fiber 4520, dchi2frac= 1.0
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5.0

2.5

0.0

2.5
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data
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5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7
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5.0
residuals

0.60.50.40.30.20.10.00.1

Fiber 693, dchi2frac= 1.0
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5.0
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data

1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.100.15

Fiber 4130, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.15

Fiber 4589, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.10

Fiber 1265, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5
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2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5
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5.0
residuals

0.30.20.10.00.10.20.30.4

Fiber 4702, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.150.20

Fiber 2703, dchi2frac= 1.0



5 0 5
5.0

2.5
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2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0
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5.0
residuals

2.001.751.501.251.000.750.500.250.00

Fiber 4830, dchi2frac= 1.0
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model
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5.0
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0.050.000.050.100.150.200.25

Fiber 1435, dchi2frac= 1.0
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data
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model
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0.20.10.00.10.20.3

Fiber 209, dchi2frac= 1.0


